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Magnetic Field at Poles of Two Current-Carrying
Curves in Anisotropic Medium
Ming Yang Wang Jiancheng Su Wuxun

(Dept. of Electron. Eng., Huaqgiao Univ., 362011, Quanzhou)

Abstract  Since Cartesian coordinate form of Biot-Savart law in anisotropic magnetic medium has been
derived from field theory of electric network theory, the polar coordinate form of the law can further be
derived and magnetic field at the focus of conical curve as expressed by polar coordinat e equation r= r(8) can
thus be solved. The problem that is difficult to be solved by Cartesian coordinate form of the law has been
solved- By continuously using polar coordinate form of Biot—Savart law in anisotropic magnetic medium, the
authors solve here magnetic field produced at the pole by currentcarrying cissoid and trefoil as expressed by
polar coordinate equation. Examples are offered here for solving magnetic field in anisotropic magnetic
medium.
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